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the 1 2ol A4HZEE ABC © B A
A7F ¥ BC 919 A E ol 22 Flch
BD = 8m , BE = 5cm , EC = 10cm ¥ D'/ \\\
ul, AF o] Zolg Fatu? \
8(3m
@ 8cm @ §cm ® Tem B| = —C
4 5cmE~~10cm -
@ %cm ® 6em
S8 \
(A = /B = +/C = /DEF = 60°
(BDE = /CEF
ABDE @ ACEF(AAR-S)
BD:CE=8:10=4:5
AABC 7} A4zt o]2 & AB = BC = CA o], §F o] Zo]

= 15cm ©|t}.
w2, AD=DE=7,4:5=7:EF
SEF= 2 _AF
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75cm|

- 4m---

1.6 o h=2.5(m)
. (¥°]) =2.5+40.75 = 3.25(m)
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11. o2 ¥4 aAABCaDFE°|tt. DES DF 9] ZolE a, bE
ARgRE Ao 2 vebd A7 (T, LA =/D, B=/F)

(@)DE - g(cm) DF = £ (cm)
@ DE = b(cm), DF = 2(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)
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@ 9cm ® ?cm

i)AD’ =BDxDC =8x2=16
.. AD = 4(cm) (- AD > 0)

~~3cm--~
H M2 AABC 9] 9]4]o]t},
BM = CM = AM = 5cm
MD=5-2=3
ii) MD x AD = AM x DH ©|2&
3x4=5xDH
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(AB)?r = 4 9|4 AB = 2cm, (CD)?n = 367 4] CD = 6cm
ojtt,

% AB//EF//CD ©|3 AF = BC o|2.2 FF — %(24—6) — g
o|1l

OA:OE=2:4=1:20°]22 OA = AE ©|t},

AOAB, AOEF, A0OCD & 717t OC & 522 3]3AZ1 Al 4

E2HF G2 0| B§HE=1:2:30|2=% I H|=
1:8:27 °|th,
w2tA o] oA Kol BN T A& RS 72
vV, V.,V 2l st
ViiVa:Va=1:(282-1):(3%3-2%=1:7:19 o[t}
1 1

wabA] Vs = 79 X Vo = 79 X 14m = 387(cm?®) ©]tt,
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o 17 22 BPAHF ABCD oA B} /D 2] o] 5RAl0]
AD, BC¢} 9ty He Zt ZH E, Fef 52, BC = 10cm, DC =
6cm, <C = 60°<% w, oBFDE 2] =9 Zo]=?

@ 16cm @ 18cm @QOcm @ 22cm ® 24cm
1 1

(EBF = izB = §zD = /(EDF ---Q
/DEB = 180° - /EBF = 180° — /EDF = /BFD -
D, ©°lA ocEBFD & F+ %< thzte] =227]7t 7—-*7—.* gonz
hic| 6“/\]-tﬂ-aﬂo]1:]-
(EDF = /DFC (.- 31Z}) o] B2 ACDF & o] 584 Ztgo| 1, Al
Zho] BE 60°olm2 A4rzteoltt

.. FC=DC = DF = EB = 6(cm)

s (EEE dol) = (6+4) x2 = 20(cm)

. DE=BF =BC-FC = 10 -6 = 4(cm
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